1. Work out.
a) 9 6 5 7
- 4 3 1 2
5 3 4 5

Grade 4
Mathematics

Subtraction

7 10 1 10
b) 8 5 2 1

- 3 7 1 4

4 8 0 7

5 4 10
C) 7818‘&0

- 4 9 5 8

1 0 9 2

(larger-smaller)

2. Find the difference between

a) 6375 and 2150
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Answer: 4 225

b) 3268 and 4395
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Answer: 1127

c) 5060 and 945
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Answer: 4 115

3. Loic has 25 marbles.

(Wyans has 8 marbles less than Loic)

He has 8 marbles more than Wyans.

marbles does Wyans have ?

Answer: 17 marbles.
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How many

4. Selvana, Judith and Tracie have Rs 5000 altogether. Selvana has Rs 1700
and Judith has Rs 1500. How much money does Tracie have ?
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Answer: Rs 1 800.
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